k)

FA 2x° +ax® + bx+8°] x— 13 x -2 2 Z}Zf ypo] oA &
A
1 O

She A% 0, b 27
@a:—Q,b:—S @ a=3,b=4
®a=-1,b=-3 @ a=4, b=-2

®a=-3,b=7

B

flx)=2x3+ax®> +bx+82 FOH
x—= 1% x - 2= 247 e gl& ol A7 00]B= f(1) =
0, f(2) = 0°]ofoF gtk
S f)=2+a+b+8=0,
F(2) = 16+ 4a+2b+8 =0
Soa+b=-10, 2a+b=-12
T AS dgste] EHa=-2, b=-8




o]

= B = a+ beuﬂ
WA % 87 ghe 28 Betel,

, 2A + BE oh= 1ol A

2A + B = 2(a + 2b) + (2a + 3b)
= (2a + 4b) + (2a + 3b) @ FHiH 2
=2a+ (4b+2a)+3b © AIHZ
=2a+ (2a+4b) +3b © W32
= (2a + 2a) + (4b + 3b) @ LT
=(2+2)a+(4+3)b @ EHHZ
=4a+7b

\VARR 4
0
n
@

@ 2a + (2a + 4b) + 3b = (2a + 2a) + (4b + 3b): A




()% x—12 W o Ue A7} gelk, E, ojufe] §8 x4 0%
the URiR17} 20190 £() 8 24 20-3 0.2 L Ul 2| & Ftolet,

> E

> HE 2x4+1

B

() = (x-1)0(x) +3
(x=D{(x+3)Q'(x) +2} + 3
=(x-1)x+3)Q(x) +2(x-1)+3
=(x2+2x-3)Q(x) +2x+ 1

b, ke U AlE 204 1




4.

B

100 7§ 2] THeHA] x2

—x=1,x2=x=2, -+, x¥2=x-100 Zof|A A57}
el QRO BOZ QARelEL e BE E A9l

@ 571 @ 70 (@)9711 @1/ © 1A

@ —xon= (et a)x—b) (@ b AA%) e o}
b=a+1,ab=n(1<n<100)

a 12345 6 7 89

b 2345 6 7 8 910

n=ab | 2 612 20 30 42 56 72 90




X+ 18 AG7E A5 9] el A A58 T o, kg F 9154
PARSR

DO x2+x+1 @ x2-x+1 (@)x2+ V3x+1
@ x4+ V3x-1 ® x2-1

(EH) = ()7 +1
=+ -x2+1)
= (x* + 1){(x® + 1)% - 3x?}
= (x2 +1)(*% - V3x+ 1)(x®> + V3x+ 1)




A 22 4 3x+a, ¥~ 3r+ bS] ARFHST x- 190 W, Az

O,
o 1

wlg Fotofel,

okl n

DO x>+3x2-12x+38 @ x*-3x2+10x-8
@x3+x2—10x+8 @ x> -9x+38

® ¥ +2x2-8x+10

1+3+a=01-3+b=0°Aa=-4 b=2
¥ +3x-4=(x-1)(x+4)

2 -3x+2=(x-1)(x-2)

I8ug F oA Hagalee

(x=1)(x-2)(x+4) =x>+ x> - 10x+ 8




7.

2 1Ag0] A%7} 19 5 o]4Ale] HAqEERT} x + 3017 H 4T

Bl=7F % + % - 6x D W, T o]x}4] 9] g2
D (x+1)(x-2) @ (x+2)(x+4)
@2(x-1)(x+3) @ 2(x-2)(x-4)

® 2(x+1)(x—4)

~&B

A FoFr7t x+ 3 0| BR
a(x+3),b(x+3) (a, b= A
HAFHTE f(x) =23+ 22 - 5
f(x) =x(x®> +x-6) = x(x+3)(x-2)
wreha] & okl

x(x+3) (x=2)(x+3) o|B2=

o= = ekl o] gk
x(x+3)+(x-2)(x+3)=(x+3)(2x-2)




a4 (1-xi)(1-i)7F 2357t H=5 A x 9] gh= Agstoiet
=1

>
> Mt

S5 . x=1

(1-xi)(1-i)=(1-x)+ (-1 -x)i
ool ALRI 0= 1-x=0

x=1




1-x\"" 1+i 1=iY o1 po o
? f(x):<1+x) ‘“‘]q’f<1—i)_f<1+i)“]ﬁﬁ¥°}”5?
O - @-2 o -3 @ i ® 2i
1+i (A+)? 1+2+2
1-i (1-Ha+i)  1-2
= 1-i?  1+2-2
T+ @+p-)  1-2
. 11—\t 14\
f(l)_f(_l):(lﬂ) _(1—1‘)
— (—i)L01 — ()10t
— _9jl01
=-2i(vi*=1)
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)
s
°1)

);_/t[q;

]_3

(j+

gi




11, EBH y— - 2r+ 4k O TR} x F3 A2 W) S w4
o Y915 T

1 1 1
®k<% ®k<—% @k>é_l
(‘Dk<z1 @k>_4_1

B

y=x2—2x+ 4k o] 27}t x St
S ereim BEAD 7}
D < (0 o]ojof st

D
—=1-4k<0
1 <

1
k> -
1




OIS y = 2 Fax-+ b7 (-1, ~2) 9 (1, 0) & AT W), AL
o2

4 9
®-; @-1 O3 @ 1 ®-;

B ~
ojzty = ¥2 +ax+bol F(-1, -2) &L A(1, 0) = tHYstA
—2=1-a+b%0=1+a+b

T AS Aoty 29

—-a+b=-3,a+b=-1

La=1 b=-2

y=x24+x-2

1)2 1
= —) -2
Y (x+2 4

(.
webd x = - 9 T A3k - & e




P tax+b=TH(-53) = AUYL x=m L T

et m 9] gh& F-stef=h

ﬂ

e

ey
(UV)

3
o
){\1

y=x*+ax+b © ZAH] ZRI} (m, 3m) O|BE
y = (x—m)%+3m°ll (-5,3) & NPz},

3= (-5-m)?+3m

m? + 10m + 25 + 3m = 3

m2+13m+22=0

(m+11)(m+2)=0

et m = -11 T m = -2 o[t}




14. % okd4] A, Boll iste] (A, B) = A2 + B? - AB &}
1, 22% - 3} - 72 A5 WA QSR o]

Z27?
D x- V2 @ x-1 @x
@ x+1 ® x+ V2

B

(X241, 222 -3} -7

=2 +1)2+ (22 -3)2 - (2 +1)(2x*-3) -7
=xt 42241 +4xt 1222 +9-2x4 + 22 +3-7
=3x*-9x*+6

=3(x* - 3x% +2)

=3(x* - 1)(x*-2)

=3(x=1)(x+1)(x= V2)(x + V2)




(x,y) ol Tt x + y o] #9gh= st

y

=

484 @ 192 ® 112 @ 100

® 548

20(x+y) = xy, xy—21(x+y)=0
C(x=21)(y-21)=212=32xT7?
2lx = (x-21)y°lil y > x> 00| B2

—-21>x-21>0

So(x=21, y—21)

(1, 441), (3, 147), (7, 63), (9, 49)

. y)
(22, 462), (24, 168), (28, 84), (30, 70)

L x+y9] HAZE2 22 + 462 = 484




